202 14E8H ETC2.0 (DSRC) EiERIFL

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==

B[R] 2,315 165 12 135 307 170 2,934
SRR 572 88 0 42 91 29 793
aF= 604 80 8 49 122 37 863
=R 1,396 133 0 164 245 120 1,938
AR 452 36 1 26 73 11 588
LR 641 52 1 24 107 35 825
mEE 1,268 82 5 92 228 81 1,675
KR 2,585 187 1 200 418 182 3,391
N 1,685 117 1 98 301 119 2,202
HER 2,070 142 2 134 393 130 2,741
BEE 7,754 423 24 695 1,727 600 10,623
FEE 5,737 338 17 5659 1,101 482 7,752
RRED 12,464 229 13 595 2,000 1,181 15,301
fESNS 9,346 275 10 528 1,755 807 11,914
Hino i 1,196 127 10 89 247 88 1,669
2R 654 45 0 30 98 45 827
alllR 728 50 1 46 112 44 937
BHE 553 21 1 23 66 24 664
LIS 722 30 3 37 150 56 942
REFE 1,434 82 6 65 276 95 1,863
I RIS 1,635 96 3 90 340 83 2,164
EEIR 2,966 207 2 167 694 262 4,036
BHE 8,183 409 14 525 1,469 657 10,600
=ER 1,447 126 1 72 355 131 2,001
BER 932 46 0 46 211 57 1,235
RERRT 1,726 90 1 98 388 191 2,303
ARRAT 7,107 514 11 676 1,282 684 9,590
"ER 4,039 160 3 141 728 385 5,071
ZRE 801 63 0 65 167 45 1,096
AL 571 37 1 36 131 32 776
SWE 297 18 0] 14 69 30 398
ERE 402 22 1 17 93 25 535
A L= 1,188 90 1 84 247 102 1,610
LBE 1,827 180 3 110 446 224 2,566
Hijm[= 854 50 3 60 183 66 1,150
e 388 22 0 17 86 23 513
&HIIE 600 45 2 31 108 46 786
BER 656 54 0 31 205 81 946
=R 345 16 1 9 69 16 440
ERR 3,181 205 13 245 569 258 4213
EER 344 51 0 35 102 36 532
RIBE 529 42 3 17 134 57 725
HEARIR 829 57 2 41 177 83 1,106
AHE 587 35 O] 30 92 43 744
=IFE 561 49 3 35 130 25 778
BREE 742 35 1 67 144 48 989
RIS 241 2 5 5 59 33 312
tT=4 0 0 0 0 0 0 0

a&t 97,154 5,423 190 6,395 18,495 8,059 127,657




202 1FE8H ETC2.0 (DSRC) ESiERIFEY - iR

BoeE B ]
BRI szt
1(&38) 2(KEY) 3(K) 4(FREY) 5(8) ==
B[R] 1,650 117 7 104 253 137 2,131
SRR 481 46 0 22 85 26 634
aF= 457 45 0] 29 100 28 631
=R 1,025 102 0 101 194 90 1,422
AR 360 24 0 15 62 7 461
LR 515 36 0 15 87 26 653
EER 1,021 40 2 52 193 58 1,308
KR 1,973 111 0 126 329 123 2,539
N 1,314 89 0 65 252 88 1,720
HER 1,623 93 1 94 310 89 2,121
BEE 5,866 328 17 510 1,435 428 8,156
FEE 4,422 249 4 426 908 371 6,009
RRED 9,133 145 3 406 1,617 946 11,304
fESNS 7,278 180 1 414 1,467 647 9,340
Hino i 916 79 4 52 196 58 1,247
2R 496 35 0 21 84 39 636
alllR 535 33 1 29 89 30 687
BHE 417 15 1 13 47 11 493
LLBR 559 20 0] 27 123 46 729
REFE 1,082 49 0 39 227 70 1,397
I RIS 1,289 62 0] 68 304 69 1,723
EEIR 2,334 133 0 111 594 213 3,172
BHE 6,099 267 1 392 1,240 534 7,999
=ER 1,184 73 0 44 313 104 1,614
BER 742 19 0 22 173 38 956
RERRT 1,368 58 1 60 302 137 1,789
ARRAT 5,281 347 2 431 992 498 7,053
"ER 2,987 105 1 88 580 282 3,761
ZRE 630 34 0 48 133 30 845
AL 402 24 0 22 106 22 554
SR 220 15 0] 11 62 25 308
ERE 328 13 0 11 79 20 431
A L= 886 49 0 45 196 66 1,176
LBE 1,392 112 1 65 359 172 1,929
Hijm[= 680 31 1 36 153 47 901
e 311 16 0 11 78 16 416
&HIIE 450 26 1 21 90 38 588
BER 460 38 0 22 160 59 680
=R 285 11 0] 2 59 12 357
ERR 2,331 129 2 161 456 205 3,079
EER 267 25 0 19 91 28 402
RIBE 417 26 0 8 110 46 561
HEARIR 592 44 0] 29 146 61 811
AHE 462 16 O] 12 77 37 567
=IFE 452 26 0 25 115 20 618
BREE 592 20 0 47 124 42 783
RIS 177 2 0] 4 49 28 232
tT=4 0 0 0 0 0 0 0
a&t 73,741 3,557 51 4,375 15,199 6,167 96,923




